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NAME: Ell Warm-Up Deill Chodl, + 1 @
cecescecscsccccccse
1a) Complete the following patterns. 9
> o P eBW
» ABee

iiiy 26,30, 34,

V) 15, 27, 39,

b) Evaluate each expression

etb=4 17-b =
iLetc=7 7 x i) Letd =5 9-d-2=
iv) Lete =2 -8 = V) Letf=0 14 xf=

c) Rewrite the foll g the commutative property.

Da+b iy +3

d) Dete missing members of the following number family.

100+2=12 12-2=10
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NAME =2 Timed Drill Shedl, + ¢ @

3a) On the number line below, circle the number which
indicates seven steps backward.

N 9 T T T T T T T T T T T T T T T T

Vinene 9-87-6-5-4-3-2-10 1 234%:9

b) Solve the following. \
D14+0=___ D18x1=__ \ i) 42x 0=

V)17 +10=___ Wi2+12=__ " V)88 -77=____

c) Consider the following pattern. |\

If the pattern continues in th ay, how many circles will be in the
sixth ferm?  Answer:

d) Write each of the fol

i) The differenc %10.

s an algebraic expression.

i) aincreas
iii) The ;@ and 5.
e) Find each quotient.
N12+3= iN-18+6=
i) 15+ -3 = V)9 +3=
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@ = Varem-Up Deill Gledl + g NAME:

4qa) Evaluate each expression.

204 + 6) = i)5+2x6=
i) 36 + (4 +2) = V)20 + 16-9 + 10 =

) O@O =6
i) 25 +b,whereb =5 Qwhere c=3

(c+d).,wherec=5andd=3

c) Simplify the following expre X
) -2a + 30 -20=

i) 17b - 3b = 4

b) Evaluate these expressions.

V)a+b,wherea=8andb=2

iy -5¢ -3c - 1Ic =
V) =S+ 25+ 2 = V)-70+4-3+6p =
~
. ollette can buy a soda for 0.75¢ and a bag of popcorn for
Reflection b 050¢ at the fall fair. If Collette can purchase 8§ sodas and P
/ ‘\ pags of popcorn, then what is the meaning of the following
7 equation?
i S+P
J
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12a) Which is equivalent to 33?

i.81 ii. 27 iii. 63 iv. 9

3 9

q"nu\@ R Yis
\ o —

b) Evaluate each using the values given. @®. \:;\

a2+ b; use a=2and b=3 S

i) 3c - 4d; useec=4andd=2 \

i) e + 2 usc e=18and f=3

iv) 792 x h; useg=3and h=1
c) Solve for °. D10°=100_____ \Q: 12906

d) Write an expression for 125 redu by a.

e) Write an expression for the total nd z.

f) Write an expression for 420 le
g) Rewrite using the com ive property.
)2y + 3z i 4a+2b
h) Solve the followi %ns.
i 43 i) 123
iy 191 iv) 82
£ ~

\
Use a calculator to complete the following.
Keep in mind the proper order of operations!
7512 + 984 + 8 x 17 - 108

\ J

© CLASSROOM COMPLETE@PRESS Algebra - Drill Sheets CC3207



M Review Ghed NAME:

Review A

a) Continue the pattern shown in the chart below.
1 2 3 4 5 6 7

1 |12 |13 [QD] 15 |16 | 17
21 | 22 | 23 | 24 | 25 27

31 32 | 33 | 34 | 35 | 36 | 37
4] 42 | 43 | 44 | 45 | 46 | 47

b) Continue the following patterns.

d L X

i) 15,18, 21, , 25,30,

iv)9,11,13, 15 0, 20, 30,
c) Evaluate each expression

Leta=4, 9-a= iDLetb=10, 21 +b=
idLetc=5 12-3+cC= V)Lletd=3, dx3=
V)lete=2, c+3-2= vi)letf=7, f+f-1=

d) On the number li
scored in a soc

, circle the number which shows five goals

4-3-2-101 234567289

ii. BAB iii. AAB iv. ABB

ae the missing members of the following number family.

7+3 =10, 3+7=10
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Review C
a) Evaluate each expression.
D 11+7x3= iN16-12+3=
i) I0x6+3 = V)9 +7)=
V)11 +2(7-3)2=

b) Graph a <5 on the number line. b
9-8-7-6-5-4-3-2-101 2 7 9

c) Solve for x.

D8+ (X+4)=24, +42=21,

X =
i) 12 + x = 3, X = Y 2(6-X) =8,
jo

d) If y = 4, solve these e ns.
Dy+12= i) y(6 x 2) - 42 =

e) Write the missi ers in the following patterns.

i) 99,92, 85, , 64 i) =14, -40,

f) Write e s an algebraic expression.
0 Di 44 and 11

i ain sed by 22
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Review B

a) Solve the following.

N20-6=12+___ iN11+7=8+___

id0-10=19 + v)5035=®
b) Find each quotient.
N16+4= i)-15+3 = i h
oz
67 829

c) On the number line below, circle a los

-9-8-7-6-5-4-3-2-1 1

d) Simplify these expressions.
N -3a+6a= V—Sb#)b—mb:

iii) ~2¢ + 4c + 3¢ = iv) 43d - (-20d)) =

e) Consider the follo rn.

Jo| (So[Se S0 (30 (S0 30

finues in the same way, how many clovers will be

in the fiffly te
f) Write umbers in the following patterns.
i 120, A— i-21, ., -29,-33, __
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Plotting, Equations
and Input-Output

a) Plot the following coordinates on the
accompanying grid:

= o)

B=l )

o=

D=(C._

b) Solve the following

)

c) Examine the input-out % hown below.

Input Ou Which rule describbes the data?
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3a) On the number line below, circle the number which
indicates seven steps backward.

% e T T T T 1 | “ “ “ “
nu\@ 9 -8-7-65-4-3- | ) § ) ) a)

-7 wouldbe D 2(;3 ) ]377 . -6would be : Label 3 on the
indicated. : i) 6 iv) ; indicated. : number line.

b) Solve the following.
D14+0=__ D13x1=___ i) 42x 0= )

V17 +10=___ VI12+12=____ vi)88-77=____ D14 in13 dipo b) b)
D6+4=10 : ; Da+(+C)

. - : © i25+5=5 : : i) (de)f
c) Consider the following pattern. | - aiatas o : i) (de)

; V)8 +2=4 oD i) =11 :
° e e e e E P20+ Y= L8 v)- : c)
f : 2x8=16 C V=15 )16 : Answers will vary
©0 © © 000 4,
: : : 6-4=2)

Fiv)27 v) T v 11k

If the pattern continues in the same way, how many circles will be in the
sixth term?  Answer:

EASY: MA”I?KING

) The difference of 12 and 10. eborbxd 1542 V-1p+1 -

d)
Db+a i)c+5

i) aincreased by 6.

ii) The product of b and 5. | ® § a2 a4
LoD4 -3 : . Ma=6 va=8

D5 W3 : D18 i) 56 :
e) Find each quotient. ¢ - © o ; D iD12 )4

)12+3= i) =18 + 6 = | g
i) 15 = -3 = V)93 = | ;
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